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SHORT ANSWER, Write the word or phrase that best completes each statement or answers the question.
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3) A theatre sells two types of ticKets to their plays; children's tickets and adult

tickets. For today's performance they have sold a total of 945 tickets. Also, o
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Determine whether the matrices are inverses. Qare VD"‘ ARG N
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Find a row echelon form or a reduced row echelon form, as indicated, for the given matrix.
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Provide an appropriate response.

10) Suppose that you are solving a system of three linear equations by the row echelon 10) PT’
method and obtain the following augmented matrix.
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What conclusion can you draw about the solutions of the system?
A) The system has no solutions.
B} The system has exactly one solution.
C) The system has infinitely many solutions.

D) There is not enough information to draw any conclusion about the solutions of
the system.




SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question

Solve the system of equations by using an inverse matrix.
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Use Gaussian ellmmatlon to solve the stem of equations.
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Solve the system of equations by finding the reduced row echelon form for the augmented matrix.
13) x+y+ z=7

I I 7 | 00 3 13) (%, -1 LD)
X-y+4z=24 {1_\ y pa RV =
S5x+y+2z2=19 < )

0\ S

Solve the system of equations by using an inverse matrix
14) -5x+3y=8
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